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Bl 34 7,83 | 1,0 | 2,43 | <5,0| 1190 178 0,2 10,012| 0,1 0,105
B2 ¢ 3,3 7,77 | 1.4 | 2,29 | <5,0 1210 210 0,15 0,01 0,2 0,07
B3 g 32 | 7,89 | 2.2 |1 2,72 | <5,0| 1260 200 0,1 0,01 0,1 0,07
B4 g 32 | 7,86 | 420 2,43 | <5,0| 1280 210 0,1 0,01 0,2 0,077
B5 = 3,1 7,85 | 42 | 2,72 [ <5,0 | 1290 210 0,1 0,01 0,2 0,07
B6 3,1 7,69 | 2,8 | 2,57 | <5,0 [ 1290 210 0,1 0,024 0.2 0,082
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Bl 10,3 | 7.82 | 1,8 | 2,72 | <5,0| 1990 290 | 0,146 | 0,013 | 0,09 0,0198
B2 e 10,4 | 7,75 | 1,8 | 2,29 | <5,0| 1870 230 | 0,127 ] 0,010| 0,07 0,0222
B3 g 10,2 | 7,76 | 2,0 | 2,43 | <5,0 [ 1850 250 | 0,129 | 0,010| 0,10 0,0216
B4 8 99 | 7,72 | 6,2 | 2,57 | <5,0 | 1800 270 | 0,147 [0,019| 0,07 0,023
B5 A 10,0 | 7,85 | 88 | 243 | <5,0| 1980 250 | 0,151 (0,013 ] 0,11 0,0243
B6 10,2 | 7,84 | 5,0 | 2,43 | <5,0| 1850 280 | 0,156 | 0,010| 0,102 0,0258
TNJIPOXUMUYECKUN COCTAB BOJIbI IIPOJIMBA BBbEPKE3YH/I. Urons 2023 r.
Q x on — N - =~
= | < | £z |8 ] = | Z . 2 - | 8 =
= =5 < 2 = I T en 5 = - \ﬁ | = E E
2| €| z|25|52|5E| 3| $2 |aE g 2|2 EE| €%
2| S| g |gd|iE|Es| 2| EEBEEY 22BE ] | =t
2 | £ | g |25|§5|EE| g | 55 [Y55 “EgEpzE gE| &2
= = e = |2 ka = ol = é = B g
= - = 3 % =
Bl 17,21 8,06 | <0,52,717| <5,0| 1130 188 | 0,139 (0,011 | <0,01 0,0191
B2 Q 173 | 8,14 | 1,6 |2,431]| <5,0| 1250 186 | 0,129 [0,011(0,0167| 0,0216
B3 S 17,6 | 8,25 | <0,5]2,288| <5.0 1110 169 | 0,123 | 0,009 | <0.,01 0,0218
B4 § 17,5 | 8,17 | <0,5]2,431| <5,0| 1160 162 | 0,141 | 0,016]0,0385] 0,0229
BS - 17,2 | 8,10 | <0,5[2,288]| <5,0| 1190 170 | 0,148 [0,012(0,0317| 0,0232
B6 174 ] 8,14 | 1.8 | 2,431 <5,0] 1110 171 | 0,150 ] 0,010 <0,01 0,0251




